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Product weight in To better understand planned routes, try using this tool
kilograms (kg): to map out different routes for products (www.gmap-
Weight ‘ 2000 edometer.com)

: == === #t R G R
/ q: & K Product transport route 1 See this example of a mail or any other truck driving
IE QE E}J j == O $41 kilometers (km): from Vancouver, BC to Halifax, NS (This SAVED
— A ’ MZs : ; MAP uses a standard driving route and equals
l n n E *~ Aur: 2022 5150km)
Boat: 0
1@ E A I'_l ]]__I H q: EI *& Rail: ‘0 To better understand air flight paths, try using Great

Circle Mapper by following this hink exemplifying a

& Fﬁﬁ ::% E E E(] ;m E *E *I_ —> % 13— E‘T‘"‘Wk “” 7 London-Tokyo-Sydney flight

CALCULATE FOOD 'MILES

RESHEE. ﬁggﬁﬁﬁﬁmg

2000 kg x (2099 km x 1.10 g CO5/km = 1000 g/kg)

per kg of food

2000 kg x (0 km x 0.13 g COx/km = 1000 g/ke) perke o o )
of food

2000 kg x (0 km x 0.02 ¢ COx/km = 1000 glkg) perke o o1 .
of food

2000 kg x (41.7 kan x 027 g COx/km = 1000 ghkg) per 5, 5 4 (v

ke of food

46178 kg COy

IILIJ

Boat:
Rail:

Truck:

Total 46403 kg CO,




